2 RARE=SIVTBRERR

Ei L] #ER (Ba/ke)
NO | R4 | WERR | WEH | uy i mmmw) | omae | sre ®EE e, 20, S BN BEE | Gom | e | 01 | Ot | oot
1 %f”ﬁb,j rER reMm — I REY BEERLLM=F i3 BERRRRE V- Ge H25.2.26 | H25.3.1 8.10 127 21
2 %f‘ffp,j ERR | RFXER — FEE REY ERLLMV=(F HEER ERREERE VS Ge H252.26 | H253.1 <43 <39 <82
3 %f”ﬁb,j BER JNAF — I REY BERLLM=F i3 BERRRRE V- Ge H25.2.26 | H25.3.1 <36 <29 <65
4 %f‘ffp,j BEER rEH — FEE REY FEARLW=IF iiE5'4 EERBRERE I Ge H252.26 | H25.3.1 <31 <39 <7
5 %:%ﬁ vy | BER rEM — I REY FRARLL =T )54 BERRRRE V- Ge H25.2.26 | H25.3.1 <32 332 33
6 %f‘ffp,j ERR | RIFBRTHE — FEE REY FEARLW=IF it EERBRERE I Ge H252.26 | H25.3.1 <36 353 35
7 %:%;f vy | BER SIRET — I REY BRVL1=1F i3 BERRRRE V- Ge H25.2.26 | H25.3.1 <39 381 38
8 %f‘ffp,j BER LWhE — FEE REY SEDES 5223 EERRERE S Ge H25.2.27 | H253.1 <5.1 <56 <11
9 %fﬁb,j EBR LWhET - FEE & BEN 4B — BERRRBEEVS— Ge H25.2.28 | H25.2.28 <714 <71 <15
10 %f‘ffp,j BEER RIRT — FEE BEY 47 — EERBRERE S Ge H25.2.28 | H252.28 <92 <84 <18
11 %fﬁb,j rER INEFET — FERBER BEY Eao — BERERRRE V- Ge H25.2.28 | H25.2.28 <15 <6.5 <14
12 %f‘ffp,j BEER /NEFRT — FEE BEY 47 — EERRERE I Ge H25.2.28 | H25.2.28 <14 <17 <15
13 %:%;f vy | BER INEFET — ERBER BEY *H — BERERRRE V- Ge H25.2.28 | H25.2.28 <9.2 <6.6 <16
14 %f‘gﬁp,j BEER KWRET — FEE BEY 47 — EERRERE S Ge H25.2.28 | H252.28 <88 <85 <17
15 %fﬁbd BER RERET - B BEY 4+A — BERRREEEVS— Ge H25.2.28 | H25.2.28 <78 <63 <14
16 %f‘gﬁp,j BEER KWRET — FEE BED 47 — EERRERE I Ge H25.2.28 | H252.28 <714 <65 <14
17 %fﬁbd BER SRIBF - B BEY 4+A — BERRREEEVS— Ge H25.2.28 | H25.2.28 <94 <90 <18
18 %f‘ffb,j BEER RWRET — FEE BEY 47 — EERBRERE S Ge H25.2.28 | H252.28 <91 <10 <16
19 %fﬁbd BER SRIBF - B BEN 4+A — BERRRBEEVS— Ge H25.2.28 | H25.2.28 <79 <72 <15
20 %f‘ffb,j EER rEH — FEE S BEY 47 — EERRERE S Ge H25.2.28 | H252.28 <74 <18 <15
21 %fﬁbd EBR R — B BEN 45 — BERRREEEVS— Ge H25.2.28 | H25.2.28 <84 <64 <15
22 %f‘ffb,j EER EEAE — FEE BED 47 — EERBRERE S Ge H25.2.28 | H252.28 <83 <10 <15
23 %fﬁbd EER R — B BEN 45 — BERRREEEVS— Ge H25.2.28 | H25.2.28 <17 <72 <15
24 %f‘ffp,j BEER BEm — FEE BED 47 — EERBRERE I Ge H25.2.28 | H25.2.28 <89 <85 <17
25 %f”ﬁb,j rER e — ERBEMR BEY *H — BERERRRE V- Ge H25.2.28 | H25.2.28 <68 <87 <16
26 %f‘ffp,j BEER =BT — AR BED 4QA — EERBRERE I Ge H25.2.28 | H25.2.28 <89 <638 <16
27 %f”ﬁb,j BER HaET - B BEN 4+A — BERRRBEEVS— Ge H25.2.28 | H25.2.28 <72 <65 <14
28 %f‘ffp,j BEER =BT — AR BEY 4A — EERBRERE I Ge H25.2.28 | H25.2.28 <73 <56 <13
29 %f”ﬁb,j BER ARl — FERBR BEY *H — BERERRRE V- Ge H25.2.28 | H25.2.28 <98 <70 <17




